Customer Informatlon Sheet

DRAWING No.: W8Q-4000000FG-XX-XXX-00-000 SHEET 4 OF 6 IF IN DOUBT - ASK | NOT TO SCALE THIRD ANGLE PROJECTION | ALL DIMENSIONS IN mm
SPECIFICATIONS: M80-3057306/307
VATERTAL COAX CRIMP AND SOLDER CONTACTS ONLY o 0 CONTACTS
MOULDING: GLASS FILDED PPS, UL94V-0, BLACK
COAX CONTACT: . _
BODY, SLEEVE, END PLUG S _COPPER ALLOY DIM |
INNER CONTACT,LATCHING CODRAR = BERYLLIUM COPPER
INSULATOR = PTFE | DIM ‘B | vd
JACKSCREW, CIRCLIP = STAINLESS S L ) Woxo 4 155
FINISH: _> *)‘ ’<—— x M2x0. '
O e onTacT 4.50 PART ZS_EZCTION MAX |
BODY,SLEEVE, INNER CONTACT, END PLUG = 6QLD T
LATCHING COLLAR: = NICKEL " N
ELECTRICAL: 0 DIM ‘A 1 |
INSULATION RESISTANCE = 100MC) MIN 0.50 — .
COAX CONTACT: | 4.00 TYP 2 v | . (13.4)
FREQUENCY RANGE = 6GHz s L= |
IMPEDANCE = 5002 | 1{ 11 | |
V.SW.R = 1.05+ (0.04 x FREQUENCY) GHz MAX . . |
CONTACT RESISTANCE = 6m() MAX / N m m\ .
INSULATION RESISTANCE = 10%MQ) @250V AC 1 N + -
OPERATING VOLTAGE = 180V AC @ 500mA JM M \ M80-308/309
MAXIMUM VOLTAGE = 1000V AC x No. OF CONTACTS
MECHAN I CAL : A
DURABILITY = 500 OPERATIONS L/ _ D= N
COAX CONTACT: A .
INSERTION FORCE = 8N MAX |
WITHDRAWAL FORCE = 0.5N MIN . !
ENVIRONMENTAL : | -
TEMPERATURE RANGE = -55°C TO +125°C | .
PACK ING: 10.3
BAG MAX | N
FOR COMPLETE SPECIFICATION SEE COMPONENT | '
SPECIFICATION C005XX (LATEST ISSUE) ! J/z R
COAX FEMALE STRAIGHT CRIMP 4! — -
LJ L —
PART Z (9.7)
SECTION X-X
]
2 x 2.00
SLEEVE A/F HEX SOCKET
BODY ASSEMBLY ;\ S 00
CROSS SECTION |.004>‘ F 90° COAX STRIPPING
LATCHING COLLAR— O COMX CONTACT SLEEVE DIMENSIONS 3 SN
."“_"‘f.‘)}?.f_;i~___' ORDER CODE: (COAX CRIMP/SOLDER) OBSOLE I E O N ouse MsP] 2 Ji1.05.15] 12566
) N [ NOTES: NAME[15S.| DATE [C/NOTE
NSULAToR T M80-4000000FG-XX-XXX-00-000 | " coNNccTORS ARE SUPPLIED WITH CONTACTS LOOSE. —
INNER CONTACT so0Y TOTAL o, OF CONTACTS: 2. COAX CONTACT IS SUPPLIED AS A KIT OF PARTS: BODY, INSUDMJOR AND LATCHING ~ JAPPROVED: M PERREN
02 10 12 COLLAR ARE PRE-ASSEMBLED. SLEEVE AND INNER CONTACT ARE SEPARATE. CHECKED: 5 BENNETT
. 3. FOR EXTRA COAX CONTACTS, USE PART NUMBER M80-305/306/307/308%309. DRAMR C PENROSE
2305 2 COAX CONTACT CRTNP 2.0mm MB0-305 4. RECOMMENDED HAND CRIMP TOOL FOR COAX INNER CONTACT = 780-292 W ———
306 = COAX CONTACT CRIMP 2. 4mm M80-306 POSITIONER Z80-291 AND RECOMMENDED HAND CRIMP TOOL AND DIE SET FO o
DIMENSION ALCULATION gg; : ggﬂAXC(C)()NTéA((JITTCgTIM(F:’R2.P7mrsnoM§é)r;3g70 50- 303 COAX SLEEVE = 780-293.
= 907 COAX CONTACT CRIMP/SOLDER 2.0mm M80- . COAX CONTACT EXTRACTION TOOL = Z80-290. ;
DIM ‘A’ 14 No. OF CONTACTS - 4.00 309 = 90° COAX CONTACT CRIMP/SOLDER 2.7mm M80-309 g CIﬁSTRﬁ(C)TIOﬁ SEEETSCAR(E) AV%%ABLE? 29 ASSEMBLY DRG:
DIM ‘B 4 x No. OF CONTACTS + 5.00
DIM_"C 4 x No. OF CONTACTS + 10.00 a wromrton o fSErfye | OOLETIE S UATERTAL: TLATlL;éD JACKSCREW DATMATE
.= mm
AR O or e 0a 2s op X s NTACTS. B:['A@ WD N RRorEhTy G T | (XX 2 £0. 50 SEE ABOVE HEX SOCKET J/SCREWS AND“BQARD MOUNT
i8S g ot DI 8 ST oo
: technical@harwin.com OTHER PURPOSE WITHOUT S/AREA: nm2  |M80-4000000FG-XX-XXX-00-000 | X

THEIR WRITTEN PERMISSION.

UNLESS STATED



wpreston
Line

wpreston
Line

wpreston
Text Box
OBSOLETE


Customer Informatlon Sheet

DRAWING No.:‘M8Q:4000000FG-XX-XXX-00-000

SHEET 5 OF 6

IF IN DOUBT

- ASK

| NOT TO SCALE

ALL DIMENSIONS IN mm

THIRD ANGLE PROJECTION |

SPECIFICATIONS:
MATERIAL:
MOULDING: GLASS FIL
POWER CONTACT:

BODY - COPPER ALLOY

D PPS, UL94V-0,

POWER CRIMP AND SOLDER CONTACTS ONLY

BLACK

M80-328/329
x No.

M80-325/326/321
x No. OF CONTACTS

OF CONTACTS

LATCHING COLLAR = BERYLLUM_COPPER DIM “C
JACKSCREW, CIRCLIP = STAINLESSNSTEEL
FINISH: | DIM ‘B |
POWER CONTACT:
BODY, SLEEVE, INNER CONTACT, END PL 4.50 = PART SECTION —= 2 x M2x0.4
LATCHING COLLAR = NICKEL 1-1
ELECTRICAL: -
WORKING VOLTAGE = 800V AC/DC
VOLTAGE PROOF = 1200V AC/DC DIM ‘A’
INSULATION RESISTANCE = 100MC) MIN “‘.4f/ 4.0
POWER CONTACT: A 4.00 TYP . 4$b” /8756//
CONTACT RESISTANCE = 6m() MAX [
CURRENT RATING = M80-325 = 20A MAX WITH [2AWG 3 . | — ' (14.0)
M80-326 = I5A MAX WITH |4AWG ! :
M80-327 = 10A MAX WITH 16AWG /J
MB0-328 = 8A MAX WITH 18AWG [ _ . . . 5 s M80-32A732B/32C M80-PF5
M80-329 = SA MAX WITH 20AWG MAX x No. OF CONTACTS x No. OF CONTACTS
M80-32A = 20A MAX WITH I2AWG
M80-32B = I5A MAX WITH |4AWG )) non )) v
M80-32C = 10A MAX WITH |6AWG
MB0-PF5 = 40A MAX WITH 10AWG contact ‘a—/
CONTACT AS SPECIFIED
MECHANICAL : 2 x M2x0.4
DURABILITY = 500 OPERATIONS
POWER CONTACT: i
INSERTION FORCE: .
M80-325/326/327/328/329/ H%H -
32A/32B/32C = 8N MAX
M80-PF5 = 15N MAX 7.00
WITHDRAWAL FORCE = 0.5N MIN ] | | 7
ENVIRONMENTAL : !
TEMPERATURE RANGE : il | |
MB0-325/326/327/328/329/ . - -
32A/32B/32C = -55°C TO +125°C - yu L] (J U (3.9)
MB0-PF5 = -55°C TO +150°C ;
PACKING: | PART
BAG . SECTION X-X RECOMMENDED PCB LAYOUT
FOR COMPLETE SPECIFICATION SEE COMPONENT
SPECIFICATION CO05XX (LATEST ISSUE) ' OBSOLETE - oM B — ]
2.00 A/F
2 x $3.50
5 00 ORDER CODE: (POWER CRIMP/SOLDER)
: ——ﬂ<5————;— 2.25+0.05
M80-4000000FG-XX-XXX-00-000
Z TOTAL Ho. OF CONTACTS: ] MSP 11,05 15) 12566
02 TO 12 NAME ISS. DATE JC/NOTE
NOTES: APPROVED:
STRTPPING. DIMENS IONS 2385 = PONER CONTACT SOLDER T2AWG MB0-325 | . CONNECTORS ARE SUPPLIED WITH\CONTACTS LOOSE. OUED. M PERREN
326 = PONER CONTACT SOLDER 14AMG W80- 326 2. FOR EXTRA POWER CONTACTS, USE RART NUMBERS: CHECKED: S BENNETT
: : M80-325/326/327/328/329/32A/32B/32C /PF5 DRAWN:  C.PENROSE
= POWER NTACT R OR CRIMP 18AWG M80-
325 - PONER CONTACT SOLDER OF CRIWP 20A¥G_MGD- 328 3. POWER CONTACT EXTRACTION TOOL = 780 CUSTONER LT
DIMENS |ON CALCULAT ION 32A = 90 POWER CONTACT SOLDER |2AWG M80-32A 4. INSTRUCTION SHEETS ARE AVAILABLE.
328 = 907 POWER CONTACT SOLDER |4AWG M80-328 5. RECOMMENDED HAND CRIMP TOOL FOR CONTACTS
TTRIX 7 No OF CONTACTS — 400 326 = 90 POWER CONTACT SOLDER 16AMG M80-32C M80-328/329 = 780-294 WITH POSITIONER Z80-2 ASSEMBLY DRG.
: : 6. POWER CONTACT WIRE, STRIP BY 5.00mm MINIMUM.
DIM "B’ 4 x No. OF CONTACTS + 5.00
DIM C_ 4 x No. OF CONTACTS + 10.00 a wromATIOn R tscaiprive | TOLERANCES — fMATERIAL: TITLE: JACKSCREW DAJAMATE
EXAMPLE” CONNNECTOR WITH 08 POWER CONTACTS, [}:{]Zﬁiiix[;ilg§}§K§67[][]QQ{] Conrroenti o coprmient |y k= ™ SEE ABOVE MIXED TECHNOLOGYFEMARNE ASSY WITH
M80-4000000FG-08-305-00-000 Rt O sE ARMIN XXX = 0. 10mm HEX SOCKET J/SCREWS AND BQARD MOUNT
DIM ‘A" = 28.00mm, DIM ‘B = 37.00mm, . DISCLOSED, LOANED, COPIED § X XXX = £0.0lmm . DRAWING NUMBER: SHT
DIM ‘C* = 42.00mm www.harwin. com O ek on ror e | ANGLES = 5 Jaaiion  SEE ABOVE
+eChn|CQ|@hQrW|n.Com THEI:E;QIRT#?E(P:SEE:H-Q(S)?(];N UNLESS STATED S/AREA: mm? M80'4000000FG'XX'XXX'00'000 3



wpreston
Line

wpreston
Line

wpreston
Text Box
OBSOLETE


Customer Informatio

Shee

L

DRAWING No.: M8Q-4000000FG-XX-XXX-00-000 SHEET 6 OF 6 | rronvoowst -ask | (© | NOT TO SCALE THIRD ANGLE PROJECTION | ALL DIMENSIONS IN mm
PECIFICATI : ,<f
B PC TAIL HORIZONTAL CONTACTS ONLY - 0223124
MOULDING: GLASS FILLED™RPS, UL94V-0, BLACK 7.40 MAX . N08 032805$ACTS
POWER CONTACT: COPPER ALL :
COAX CONTACT:
BODY = COPPER ALLOY DIM ‘C”
INNER CONTACT = COPPER ALLOY Y
INSULATOR = PTFE
JACKSCREW, CIRCLIP = STAINLESS STEEL DIM ‘B*
FINISH:
POWER CONTACT: GOLD — L2 x M2x0. 4 —- -1
COAX CONTACT: BODY, INNER CONTACT = GOLD 4.50
ELECTRICAL: PART SECTION J
WORKING VOLTAGE = 800V AC/DC [i] -1
VOLTAGE PROOF = 1200V AC/DC m |
INSULATION RESISTANCE = 100MC) MIN [ DIM “A° . }
POWER CONTACT: a N | !
CONTACT RESISTANCE = 6 MAX o
CURRENT RATING: 400 TYP A/ 4.0 | DIM “D
M80-323/324 = 20A MAX \\T\\ ( !
M80-PF3/PF4 = 40A MAX , ,
MECHANICAL: [ ] I ]
DURABILITY = 500 OPERATIONS
POWER CONTACT: , @__ 0.50
INSERTION FORCE: /’/T_ : @D 1.50 = ——

M80-323/324 = 8N MAX
M80-PF3/PF4 = I5N MAX
WITHDRAWAL FORCE = 0.5N MIN
ENVIRONMENTAL :
TEMPERATURE RANGE:
M80-323/324 = -55°C TO +I

55
AX

=

J

bt:h-
a
N

V4
\|

25°C
M80-PF3/PF4 = -55°C TO +150°C
PACKING:
TUBE

FOR COMPLETE SPECIFICATION SEE COMPONENT
SPECIFICATION CO05XX (LATEST ISSUE)

2 x M2x0.4

OBSOLETE

Il

N——

PART --{

SECTION X-X

ORDER CODE:
(FEMALE HORIZONTAL POWER CONTACTS ONLY)

M80-4000000FG-XX-XXX-00-000

TOTAL No. OF CONTACTS:

02 TO 12

FEMALE HORIZONTAL POWER CONTACTS:

323 = 20A POWER CONTACT PC TAIL 3.5mm M80-323

324 = 20A POWER CONTACT PC TAIL 5.0mm M80-324

PF3 = 40A POWER CONTACT PC TAIL 3.5mm M80-PF3

PF4 = 40A POWER CONTACT PC TAIL 5.0mm M80-PF4
DIMENS I ON CALCULATION
DIM ‘A A x No. OF CONTACTS -4.00
DIM ‘B 4 x No. OF CONTACTS + 5.00
DIM C 4 x No. OF CONTACTS + 10.00
DIM 'D° M80-323 = 3.50mm, M80-324 = 5. 00mm
DIM F” M80-PF3 = 3.50mm, M80-PF4 = 5. 00mm

[: CONNECTOR WITH 10 POWER CONTACTS 3.5mm,
M80-4000000FG-10-323-00-000

© 2 36.00mm, DIM ‘B” = 45.00mm, DIM ‘C" = 50.00mm

DIM ‘D" = 3.50mm

M80-PF3/PF4
x No. OF CONTACTS

~=—17.40 MAX—==

|
|
— 11.80 !
I | MAX | DIM “E-
]
SPECIAL CONTACTS HIDDEN FOR ILLUSTRATION ONLY \, @2.00
SEE ORDER CODE FOR PART No. TO BE ASSEMBLED \
2 x 2.00 A/F
RECOMMENDED PCB LAYOUT FOR
HEX SOCKET POWER CONTACTS: M80-323/324
DIM ‘B°
o MSP 2 P1.05.150 12566
4.50 f=——DIM ‘A 4.50 NAMEJIsS. | DATE |c/NoOTE
APPROVED: M.PERREN
100 ﬁ4.oo TYp _
.00 4.00 TYP CHECKED: S.BENNETT
l DRAWN: C.PENROSE
$$$$ $$$$ CUSTOMER REF .
@1 .65£0.05 TYP @2.2540.05 TYP B2.15£0.05 TYP B2.2540.05 TYP ASSENBLY DRG:
= 'M"AFT‘T’FE'I“STS")E%:: DHEEQRCDER;'\NHA'RVEE TXOLERé:ICES - TIMT |L>E<ED TJEACCHKNSOCLROEGWYFEMTAMATAESSY WITH
.= mm
B:['A@ WDN COBROPERTY OF ToE mamwin | X.X = £0.50mm SEE ABOVE HEX SOCKET J/SCREWS ANDBQARD MOUNT
LT THRL I T SR
) B . - . mm N
. horwin. con " BRI [ s - s [l SEE ABONE o "
+eChn|CQ|@hQrW|n.Com THEI:%‘RT#?E?%E:’LE??&N UNLESS STATED S/AREA: mm? MBO'4000000FG'XX'XXX'00'000 3



wpreston
Line

wpreston
Line

wpreston
Text Box
OBSOLETE




